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2. logg 53] AT S x o) WL

DO -2<x<-1, x>-1 @ 2<x<-1, x>-1
@—2<x<—1,x>—1 @ -2<x<1, x>2
® 2<x<2, x>3

x+2#1, x+2>02=251H
-2<x<-1, x> -1
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log, 5 V3 + log, 5 log, 3 V3 9] #t2?

® 2 (@)3 ® 5 @ log,5 @ log, 6
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24
logy 5 V3 + log, — 5 —log, 3 V3 = log, W
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logab®> loga+ 2logh
- log a?b - 2loga + logh -
loga + 2logb = 6loga + 3logb
—5loga =loghb
-5 =1log,b
. log,b=-5

log,», ab*
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5. 2logy 3 +logy V72 -  logy 82 1HEHs] sh?

@) logs 2 @ logz2 -1 @210g32_1
@ logs +1 ® 2logs 2

2 1
2logg 3 + logs V72 - 5 log; 8
9\ 2
= log, (g) +logs 6 V2 —logs V8
10g39+10g36\/_ logs 2 V2
4 1
=1lo <—><6\/§><—>
g3 9 2\5
4
:1 f—
0g33
=2logz2 -1
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logyx = 5, logy y =2 ™, log, y 2] gh-27




5t log A = —2.341 2
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8. logx =2.6044 4 ), log x> &] F2?

D 2.3022 ©@)3.2088 ® 4.5110

@ 5.4890 ® 6.5110

B

log x = 2.6044 = -2 + 0.6044 0| 2 &
log x* = 2log x

=2(-2+ 0.6044)

= —4+1.2088

= -3+ 0.2088

=3+0.2088
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12, (aV3)2V3:a3x(fa)® = a¢ Y W, kO] ZHS Fotodeh (D a> 0,a # 1)

(@V®)2V3 =+ 3 x (Ya)b =ab + a3 xa? = a® O] B2




13. log,_s(—x*+6x—8) 0] HOIE|7] $Ig A4 x| Zho] W9IS Fatm?

D)3 <x<4 @ 5<x<T ® -1<x<3

@ x>0 ® 2<x<5

x—-3#1, x—-3>0,
-x?+6x-8> 00|22
x#+4, x>3
x2—6x+8<0
2<x<4




14. 8 % A AT} g shhe?

@ 9gloso @ log 525
1

® log% 6 C@)log% 81

® log, 3 - logs 5 - logs 16

~&B

O 9logot =4

2
2
@ log 525 = log_3 5% = Ilog55 =4

1 —4
® logy ok logy 1274 = —loga2=4

4
@ logy 81 = logg1 3* = — logs 3 = —4

® log, 3 - logs 5 - logy 16
_ logyp3 logyp5 log16
B log;p2 log;p3 logipb

_ log;, 16
~ logyp2

=4log,2=14

= log, 16 = log, 2%
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B4 £ T5hed £(20%) = © ~logy 5L o, £(3) €] 27

@1 @ 3 @210g32

@ 2log35 ® 1+logg2

B

20 — 3012} 5F9 x — logyy 3

fG3)

= —logs 5
10g20 3 83

20 9
= log, 5= logs 4 = 2log,
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3242 =3%25 = 3526 = (3¢ x 2)5 = 162
V243 = 2335 = (2%)5(32)s = 72
{23 = 2332 = (22)5(33)s = 108




17. az +a 2 =491
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D> =gt 14

oH =

~&B

ca+a ' 9] g Fstofzb (2, a > 0)

at +a =49
at+al4+2=16
Latal=14

FAES AFSHRA (af +a71)" = 42




18. {a=81 VVb=1259 ), /Vab ] Z-& Fsteiet.

> E.

> =g 225

B

{fa=81=3%A a =31

Vb =125, Vb=5 - b=>5"2
O]EH, ab = 312 . 512 — 1512
- 3/ Nab = Yab = Y1512

=15% =152 = 225




19. log, 149 24 R EE 4(0 <a < 1)0]2t & uf|, 2012 9] 1S F5lofat,

> E

> ®™e: 7
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logy 14 =1 + logy 7
logy 4 < logy 7 < logy 8
2<logyn<3

Agefa - 142=0

14
g logy 14 -3 = log, = = a

a+2=a-+log,4

14
= log, 3 -4 = log, 12—4 = log,y 7

9a+2 _ 210g2 7T _ 7
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21. HAA 2x2-8x-1 =09 F 0] logyy a, log,o b ¥ W, log, b+log, a
o) g2

O -2 @ -8 ® -12 @ -26 (52)34

ozt 4 9] Ttk Asete] BAle] Jsted
logoa+logo b =4,

logyga-logygb = _%

log,gb | logga

Slog b +1 =
O8a 084 logiga  logpb

(log;oa + log,o b)? — 21ogya - log,o b
logyga-log b
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22. A 4 3logs3, logy 3, 2logy 4] ta BAIE BrEA YR 2127

@® 2log,4 <3logg3<logyd3 @ log,3 < 2logy4 < 3logy3
@log‘23<3log33<2log24 @ 3logs 3 < 2log, 4 < log, 3

® 3logs 3 < log, 3 < 2log, 4

B )

3log;3 =3
logy 2 < logy 3 <logy4d .. 1<logy,3 <2
2logy4 =4

. logy 3 < 3logs 3 < 2log, 4




o A8 R21RE o]-85to] log V0.138 ¢ &4 H2-& Fotol2)

10 1 2 3 4 5 6 7 8 9
1.0] .0000] .0043| .0086| .0128| .0170| .0212| .0253| .0294| .0334| .0374
1.1] .0414] .0453| .0492| .0531| .0569| .0607| .0645/ .0682| .0719| .0755
1.2] .0792] .0828| .0864| .0899| .0934| .0969| .1004| .1038| .1072| .1106
1.3| 1139 .1173| .1206| .1239| .1271| .1303| .1335| .1367| .1399| .1430
1.4| 1461 .1492| .1523| .1553| .1584| .1614| .1644| .1673| .1703| .1732

[ 2
> Heh: 0.71133

FEEIEA log1.38 = 0.1399 0] B2
1 1
log ¥0.138 = - log0.138 = - log (1.38 x 1071) ot 2k A

1
= g(1og 1.38-1) = 5(0-1399 -1)
= -0.2867 = -1 +0.7133

log 4/0.138 2] &4 FH-2 (.7133 |t}
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4 an) ) SUATFE An A9 B, OIok W logy (5, +
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log, (S, + k) = nllA]

Sp+k=2" - S, =2"—k

On=14 ", a1 =8, =2'-k=2-k

(i) n>2< o,

ap=Sp=Su1=(2"-k) - (2" —k)

=on gl =onl(g_ 1) _ on-1

02N = ag, a3, ag,--- = H7F 2% SHISFo|H

(i), (i) =7 H +<E 2k, 21 22, 23, ... o] TH|5Fo| Hojof
Sia=k=1

2-k=1 . k=1
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g g7l A= =29 F2 A g2 A4 29 Fo M HE
SO Pt ojeh g2 g R =9 ol Eof5 W, 8o A

o]
Fo B9 F2 A3 ¥ %HHOM. ol 100K 9] g otofet.
(&, log0.213 = 1.328, log9.1 = 0.959 2 A3t

| 2
> =g 213

8]0 @A 29| FL a2t 517 82 F| 22| FL a(091)°
olt.

1 1
91)8 = —a°lA = = (0.91)8

@(0.91) KaOﬂ J z (0.91)

olufl, 1og0.91 = -1 + 0.959 = —0.041 0| 2.2
1

log = 81log0.91 = —0.328

.. logK = 0.328

Z 70 log0.213 = 1.328°| 22
K =213

- 100K = 213




